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{]nb Iq«pImtc, 

"Fsâ s]m¶p ]cot£... \ns¶ F\n¡v F´v CãvSamsWt¶m! \o H¶p thKw hcq. 

Rm³ F{X kt´mjt¯msSbmsWt¶m \ns¶ Im¯ncn¡p¶Xv...’ C§s\ 

\n§fmcpw Nn´n¡m³ km[yXbnÃ. Hcp Ip«nbpw A§s\ Nn´n¡pIbpanÃ. F´m 

ImcWw? FÃmhÀ¡pw ]co£sb t]SnbmWv. shdp¸pamWv. ‘D½m¡n' hcpw F¶p 

]dªp sIm¨pIp«nIsf t]Sn¸n¡p¶Xpt]mse sNdp¸w apXÂ ]co£ hcpw  

kq£nt¨mWw F¶v apXnÀ¶hÀ ]dªp ]dªp DÅnÂ t]Sn hfÀ¯nbXmWv 

CXnsâ Hcp ImcWw. 

]co£sb t]Snt¡ï Hcp ImcyhpanÃ. ]co£bpambn ]cnNbs¸SWw. At¸mÄ 

a\ÊnemIpw ]co£ shdpw ]mhamsW¶v. ]co£ Hcp ]co£Ww am{XamWv. Hcp 

aÕcw. ]cnioe\wsImïv, ]cnNbwsImïv, ]co£sb \¶mbn t\cnSm\mIpw. AXn\v 

H¶maXmbn thïXv BßhnizmkamWv. 

tImhnUv almamcn ImcWw \n§Ä¡v kzm`mhnI kv-IqÄ A\p`h§fpw ¢mÊvapdn 

]T\hpw Cu hÀjhpw ]qÀ®ambn km[yambn«nÃ. \hw_À amkw hsc Hm¬sse³ 

¢mÊpIfneqsSbmWv \n§tfmtcmcp¯cpw ]mT§Ä ]cnNbs¸«Xv. \hw_À amkw 

apXÂ \n§Ä kv-IqfpIfnse¯nsb¦nepw IrXyamb A[yb\ kabw \n§Ä¡v 

e`n¨n«nÃ F¶XmWv hmkvXhw.  

2022 G{]nÂ 19 sNmÆmgv¨bmWv IW¡v ]co£. BsI 120 amÀ¡nsâ tNmZy§fmWv 

IW¡nsâ tNmZyt¸¸dnÂ DÅXv. BsI 35 tNmZy§Ä. AXnÂ 24 tNmZy§Ä¡v 

am{Xw D¯cw FgpXnbmÂ aXn. Hcp tNmZyhpw apgph\mbn hnjan¸n¡nÃ. 1 amÀ¡nsâ 

8 tNmZy§fpw, 2 amÀ¡nsâ 5 tNmZy§fpw, 4 amÀ¡nsâ 4 tNmZy§fpw, 6 amÀ¡nsâ 5 

tNmZy§fpw, 8 amÀ¡nsâ 2 tNmZy§fpw BWpÅXv. AXnÂ  hfsc Ffp¸apÅ 1 

amÀ¡nsâ tNmZy§fpw aäv tNmZy§fnse H¶mas¯ k_v tNmZy§fpw 

hcbv¡m\pÅ tNmZy§fpw DÄ¸sS 70 amÀ¡v t\SnbmÂ A+ t\Sn F¶À°w. 

]co£ FgpXpt¼mÄ: 

• ‘IqÄ Hm^v ssSw' \¶mbn D]tbmKn¡Ww. 

• FÃm tNmZy§fpw 15 an\nänÂ hmbn¨p XocWsa¶nÃ. ]camh[n tNmZy§Ä 

hmbn¡m³ {ian¡pI. 

• GsXms¡ tNmZy§fmWv FgptXïXv AsÃ¦nÂ GsXms¡ tNmZy§Ä 

Hgnhm¡Ww F¶v Cu kab¯v Xocpam\n¡mw. 
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• im´ambn ]co£ FgpXpI. 

• tNmZy§Ä \¶mbn hmbn¨ tijw D¯csagpXpI. 

• Hcp tNmZyw _p²nap«pÅXmsW¶v tXm¶nbmÂ ]cn{`an¡mXncn¡pI. AXv 

Hgnhm¡n ASp¯  tNmZy¯nte¡v t]mIpI. 

• Hcp tNmZy¯nÂ Xs¶ Hcp]mSv kabw ]mgm¡cpXv. 

• Ignbp¶Xpw \¼À {Ia¯nÂ FgpXpI. 

• BhiyapÅXv am{Xw FgpXpI. hmcnhen¨v FgpXmXncn¡m³ {i²n¡pI. 

• Nn{X§Ä kvsIbnepw s]³knepw D]tbmKn¨v hr¯nbmbn hcbv¡pI. 

• ]co£ FgpXpt¼mÄ aäpÅ Hcp Ip«ntbbpw a\ÊnÂ ImWcpXv. \n§Ä¡v 

F´dnbmw AXv am{Xw t]¸dnÂ FgpXpI. 

• Ahkm\ambn 24 tNmZy§Ä¡pw D¯csagpXn F¶v Dd¸m¡pI. 

 

]¯mw ¢mÊnse IW¡v ]mT]pkvXI¯nse Hmtcm ]mT§fnsebpw {][m\s¸« 

t^mÀapeIÄ CtXmsSm¸w tNÀ¡p¶p. Fsâ {]nbs¸« Iq«pImÀ¡v CXv ]co£bv¡v 

{]tbmP\s¸Spw F¶v hnizkn¡p¶p. FÃmhÀ¡pw Hcmbncw hnPbmiwkIÄ 

t\cp¶p. 

kvt\l]qÀÆw  

Aizn³.hn.Fkv  

9562649725 
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CMS TUITION CENTRE HO: Dhanuvachapuram BR: Karakonam & Udiyankulangara 4 | P a g e  

 

 ASWIN V S I 9562649725 

  



 

CMS TUITION CENTRE HO: Dhanuvachapuram BR: Karakonam & Udiyankulangara 5 | P a g e  

 

 ASWIN V S I 9562649725 

1. ARITHMETIC SEQUENCES 

 

• Arithmetic sequence: A sequence got by starting with any number and adding 

fixed number repeatedly. 

• Common difference (d): same number on subtracting from any term immediately 

preceding it. d = X2 – X1 

• The mth term of an arithmetic sequence is Xm and nth term is Xn then 

  Common Difference, d = 
𝑻𝒆𝒓𝒎 𝑫𝒊𝒇𝒇𝒆𝒓𝒆𝒏𝒄𝒆

𝑷𝒐𝒔𝒊𝒕𝒊𝒐𝒏 𝑫𝒊𝒇𝒇𝒆𝒓𝒆𝒏𝒄𝒆
 =  

𝑿𝒏−𝑿𝒎

𝒏−𝒎
 

• A,B,C are three consecutive terms of an arithmetic sequence, Then  

    Middle term, B = 
𝐀+𝐂

𝟐
 

• Nth term of an Arithmetic Sequence/ Algebraic Form of an Arithmetic Sequence 

    Xn = dn + (f - d) 

• Sum of first n natural numbers 

  1 + 2 + 3 +……..+ n = 
𝐧(𝐧+𝟏)

𝟐
 

• Sum of first n even numbers 

2 + 4 + 6 +…….. + 2n = n(n + 1) 

• Sum of first n odd numbers 

  1 + 3 + 5 + ……… + 2n-1 = n2 

• Sum of first n terms of an Arithmetic Sequence 

X1 + X2 + ……. + Xn = 
𝐧

𝟐
 [𝑿𝟏 + 𝑿𝒏] 

  

• X1   Position of  last Number in Nth line = 
𝐧(𝐧+𝟏)

𝟐
 

X2   X3   Number of terms in Nth line = N 

X4   X5   X6  Last term in Nth Line =  d[ 
𝐧(𝐧+𝟏)

𝟐
 ]+(𝒙𝟏 − 𝒅) 

…………………….  First Term in Nth Line = Last term in Nth Line – (N-1)d 

………………………… 
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• X1   Position of  last Number in Nth line = N2 

X2   X3   X4  Number of terms in Nth line = 2N-1 

X5   X6   X7   X8   X9 Last term in Nth Line =  dN2 + (X1-d) 

…………………………… First Term in Nth Line = Last term in Nth Line – (N-1)d 

……………………………. 

 

• Algebraic expression of an Arithmetic Sequence is An+B 

➢ Common difference, d = A 

➢ First term = A + B 

 

• Algebraic expression of Sum of an Arithmetic Sequence is An2 + Bn 

➢ Common difference, d = 2A 

➢ First term = A + B 
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X0/2 

X0 

X0/2 

X0 

1800-x0/2 

2. CIRCLES 

 

 

Angle on semicircle is 900 

 
 
 

 

 

All angles on same side  are equal. 

 

 

 

 

     

Angle on the major segment is half the   central angle of the chord. 

 

 

 

 

 

 

Angle on minor segment is half  the central angle of the chord 

subtracted from 1800. 
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C D 

B 

D 

P 

C 

P 

 

  
1800-x0  A circle passes through the four vertices of a quadrilateral is 

called Cyclic Quadrilateral. Opposite angles of a cyclic 

quadrilateral are  supplementary. 

X0 

             

 

 
 

 

AP x PB = PC x PD 
P 

A 

 

 

 

 

 

PA x PB = PC x PD 
 

B 
 
A 
 
 C 

 
 
 

 
 
 

PA X PB = PC2 
A    B 
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3. MATHEMATICS OF CHANCE 

 

• Probability = 
𝑵𝒐.  𝒐𝒇 𝒇𝒂𝒗𝒐𝒖𝒓𝒂𝒃𝒍𝒆 𝒐𝒖𝒕𝒄𝒐𝒎𝒆𝒔

𝑻𝒐𝒕𝒂𝒍 𝒏𝒐.𝒐𝒇 𝒐𝒖𝒕𝒄𝒐𝒎𝒆𝒔
 

• Sum of Probability = 1 

• Geometrical Probability: 

Step 1: Identify the shapes of shaded part and total figure 

Step 2: Identify the measures that are equal in these two shapes and denote it  

               using single letter. 

Step 3: Find the area of shaded region and area of total shape using that measure. 

Step 4:   Probability of shaded region = 
𝑨𝒓𝒆𝒂 𝒐𝒇 𝒔𝒉𝒂𝒅𝒆𝒅 𝒓𝒆𝒈𝒊𝒐𝒏

𝑻𝒐𝒕𝒂𝒍 𝒂𝒓𝒆𝒂 𝒐𝒇 𝒔𝒉𝒂𝒑𝒆
 

• Probability of Pairs: 

Total No. of Pairs = No. of elements in A  X  No. of elements in B 

                    Probability = 
𝑵𝒐.  𝒐𝒇 𝒇𝒂𝒗𝒐𝒖𝒓𝒂𝒃𝒍𝒆 𝒑𝒂𝒊𝒓𝒔

𝑻𝒐𝒕𝒂𝒍 𝒏𝒐.𝒐𝒇 𝒑𝒂𝒊𝒓𝒔
 

 

 

4. SECOND DEGREE EQUATIONS 

 

• Take the unknown value as X 

• Common Format : ax2 + bx + c = 0 

•  𝒙 =
−𝒃±√𝒃𝟐−𝟒𝒂𝒄

𝟐𝒂
 

Here, 

If  𝒃𝟐 − 𝟒𝒂𝒄 > 0 , x has Two solutions. 

If  𝒃𝟐 − 𝟒𝒂𝒄 = 0 , x has One solution. 

If  𝒃𝟐 − 𝟒𝒂𝒄 < 0 , x has no solution. 

 

• (a + b) 2 = a2 + 2ab + b2  

• (a - b) 2 = a2 - 2ab + b2 
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5. TRIGONOMETRY 

 

• If the angles of a triangle are 300, 600, 900, then the sides are in the ratio 1 : √𝟑 ∶ 𝟐 

• If the angles of a triangle are 450, 450, 900, then the sides are in the ratio 1 : 1 : √𝟐 

 

 Sin X0 = 
𝑶𝒑𝒑𝒐𝒔𝒊𝒕𝒆 𝑺𝒊𝒅𝒆

𝑯𝒚𝒑𝒐𝒕𝒆𝒏𝒖𝒔𝒆
 

 Cos X0 = 
𝑨𝒅𝒋𝒂𝒔𝒄𝒆𝒏𝒕 𝑺𝒊𝒅𝒆

𝑯𝒚𝒑𝒐𝒕𝒆𝒏𝒖𝒔𝒆
 

 X0 Tan X0 = 
𝑶𝒑𝒑𝒐𝒔𝒊𝒕𝒆 𝑺𝒊𝒅𝒆

𝑨𝒅𝒋𝒂𝒔𝒄𝒆𝒏𝒕 𝑺𝒊𝒅𝒆
 

                                       Adjacent side 

 00 300 450 600 900 

Sin 0 
1

2
 

1

√2
 √3

2
 1 

Cos 1 
√3

2
 

1

√2
 

1

2
 0 

Tan 0 
1

√3
 1 √3 - 

 

• In a Circle with radius ‘r’ and  central angle C0 

 Length of chord = 2r sin 
𝒄

𝟐
 

• Angle of elevation: Angle between straight view and rise view. 

• Angle of depression: Angle between straight view and lower view. 

• To find the height and distance use Tan ratio. 

 

 

 

 

O
p
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se 
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6. COORDINATES 

 

 

 

 

 

 

 

 

 

 

 

 

 

• Horizontal real line is named as x-axis and vertical real line is named as y-axis. 

• Coordinates of a point in the form of (x, y).  

• (x1 ,y1) and (x2 ,y2) are the coordinates of two points A and B respectively. 

 The distance between AB is 

   AB = √(𝒙𝟏 − 𝒙𝟐)𝟐 + (𝒚𝟏 − 𝒚𝟐)𝟐 

• Distance between a point (x, y) and origin (0, 0) is 

   OA = √𝒙𝟐 + 𝒚𝟐
 

• If three points A, B and C are on the same line (collinear) then 

AB + BC = AC 

• If AB, AC and BC are the three sides of a right triangle then  

   AB2 + AC2 = BC2 (Pythagoras theorem) 

• If (x1,y1) and (x2,y2) are the coordinates of opposite vertices of rectangle then 

(x2,y1) and (x1,y2) are the coordinates of other vertices. 
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180-X0 X0 

X0/2 

X/2 

X0 

PA X PB = PC2 
C 

A B 

7. TANGENTS 

 

 

 

  

Angle made by tangent and Radius/Diameter is 900 

 

 

  

The quadrilateral with one vertex at centre, two 

vertices on the circle and one vertex at the point where 

tangents meet, is Cyclic Quadrilateral.  

So angle between radii and angle between tangents is 

supplementary (sum = 1800) 

 

 

 

 Angle between Chord and Tangent is half the central 

angle of the chord. 

 

 

 

  

 From an external point two tangents can be drawn. 

 They have same length. 
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s-a s-a 

b c 

s-c s-b 

Half the perimeter of triangle, S = 
𝒂+𝒃+𝒄

𝟐
 

Radius of the incircle of a triangle, R = 
𝑨

𝑺
 

Area of triangle = A = √𝒔(𝒔 − 𝒂)(𝒔 − 𝒃)(𝒔 − 𝒄) 

s – c             a s-b 

 

 

8. SOLIDS 

 

1. SQUARE PYRAMID 2. CONE 3. CYLINDER 

 

• LSA           =  2al 

• TSA           =  a2 + 2al 

• VOLUME =  
𝟏

𝟑
 a2h 

 

 

 

 

 

• l = √𝒆𝟐 − (
𝒂

𝟐
)𝟐 

• h = √𝒍𝟐 − (
𝒂

𝟐
)𝟐 

 

• CSA           = πrl 

• TSA           = πr2 + πrl 

• VOLUME  = 
𝟏

𝟑
 πr2h 

 

• Radius of sector,R = l (slant height) 

• l = √𝒉𝟐 + 𝒓𝟐 

• Base Radius of cone, r = 
𝒙

𝟑𝟔𝟎
 . R 

 

• CSA            = 2πrh 

• TSA            = 2πr2 + 2πrh 

• VOLUME  = πr2h 

 

4. SPHERE 5. HEMISPHERE 

 

TSA           = 4πr2  

VOLUME  = 
𝟒

𝟑
 πr3 

 

CSA           = 2πr2 

TSA           = 3πr2 

VOLUME  = 
𝟐

𝟑
 πr3 
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9. GEOMETRY AND ALGEBRA 

 

(x1+x2-x, y1+y2-y) 

                       (x2,y2)  

Parallellogram 
 

(x1,y1) 

(x,y) 

 

• Midpoint of line joining (x1,y1) and (x2,y2) 

                    (
𝒙𝟏+𝒙𝟐

𝟐
 , 

𝒚𝟏+𝒚𝟐

𝟐
) 

• The line joining two points (x1, y1) and (x2,y2) is divide in the ratio m:n at point P 

the coordinates of  P is  

           (
𝒎.𝒙𝟐+𝒏.𝒙𝟏

𝒎+𝒏
 , 

𝒎.𝒚𝟐+𝒏.𝒚𝟏

𝒎+𝒏
) 

           or 

              x = x1 + 
𝒎

𝒎+𝒏
 (x2 – x1) and    y = y1 + 

𝒎

𝒎+𝒏
 (y2 – y1) 

• Slope of line joining (x1,y1) and (x2,y2) 

                                   Slope, m =  
𝒚𝟐−𝒚𝟏

𝒙𝟐−𝒙𝟏
 

• Equation of line joining (x1,y1) and (x2,y2) 

                                 
𝒚−𝒚𝟏

𝒙−𝒙𝟏
 = 

𝒚𝟐−𝒚𝟏

𝒙𝟐−𝒙𝟏
 

• Equation of circle with centre (a,b) and radius ‘r’ 

(x – a)2 + (y – b)2 =  r2 
 

• Coordinates of the centroid of a triangle with vertices (x1, y1), (x2,y2),(x3,y3) is 

                        (
𝒙𝟏+𝒙𝟐+𝒙𝟑

𝟑
 , 

𝒚𝟏+𝒚𝟐+𝒚𝟑

𝟑
) 
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 In triangle OAB, The point P divides 

the line AB in the ratio OA2 : OB2 

 

• If (x1, y1), (x2,y2), (x3,y3) are three points on a line then x-coordinates and y-coordinates 

are in arithmetic sequence. 

 

 

 A 

 P 

In triangle OAB, If OP bisects angle O then The 

point P divides  the line AB in the ratio OA : OB 

 

 B 

O 

 

A 

 

 

 

O 

 

 

10. POLYNOMIALS 

 

• If a polynomial, P(x)  = ax2 + bx + c, is given and we have to write it as the product 

of two first degree polynomial, then solve the polynomial using second degree 

equation method and if we get x = m and x =n, then (x-m) and (x-n) are the factors  

• P(x) is any polynomial and (x – a) is a first degree polynomial, Take x = a 

1. If P(a) = 0 then (x – a) is a factor of P(x) 

2. If P(a) ≠ 0 then (x – a) is not a factor of P(x) 

3. If P(a) = b then b is reminder and it is to be subtracted from P(x) 

• If X2 – a2 is factor of p(x) then (x + a) and (x – a) are factors of p(x) 
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11. STATISTICS 

To find the Median 

Step 1: Find Position of Median; 

o If Total Number is Odd then, Position of Median =  ( 
𝑛+1

2
)th 

o If Total Number is Even then, Position of Median =  ( 
𝑛

2
)th and ( 

𝑛

2
+ 1)th 

Step 2: Find, d = 
𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑒𝑙𝑒𝑚𝑒𝑛𝑡𝑠 𝑖𝑛 𝑙𝑒𝑓𝑡

𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑛𝑢𝑚𝑏𝑒𝑟 𝑖𝑛 𝑟𝑖𝑔ℎ𝑡
 

Step 3: Find  
𝑑
2

 

Step 4: Add 
𝑑

2
 to the last interval selected 

Step 5: Add essential ‘d’ to the above answer to get the number in required position 

Step 6: Find median 

 

 


